LAPLACE CRITERION:
IN ThIE 1T 1S ARGUED ThAT £/0e6 P(6;) Ts woT
KNOWN , ONE shouLd comsiber P(8)) = P(§)).
IN EFFECT , IF (= I;mN P(B,)_-P(_e,)... = "',.;'
[SINCE THERE 15 e INFORMATION, HENEE THE

DISTRIBUTION 15 ONIFORM 15 NOT AVERY Soownd
Con cePT]

ONCE P(_Bi,) IS ASSUMED, ONE CAN DETERNINE
THE EXPECTED OUTCONMNE GIVEN A PARTICULAR ACTION.

LETS LoOK AT AW EXAMPLE:
A TRANS PORT PLANNER 15 PLANNING FOR
ACITYS TRANSPORT PACILITIES KEEPING IN MIND

THE GRONTH OF THE CATY. IT 1S EXPECTED THAT
TRANSPORT DEMAND wWILL END VP BEING

EITHER  Low (6,) , ™MobeRATE () , Hien(6,)
OR VERY HiaH (By). ALTIONS WHICH THE PLANNE
CAN TAKE ARE : NO CHANGE, SosT MAMT. (a,),
IMPROVE RoADs (4,) , IMPROVE ROADS + TRANSIT
SYSTEM (a.&)) IMPROVE ROADS 4+ RAPID TRAWEIT
SYsTEM (Ay). THE DEcision ScENARID S
DESCRIMED 1N TERMS ©OF ¢OsT DUE To: (i) owsT,
(i) WAsTEs FaciLITIES | Ave (i11) ConaEsTIOn.
THESE ARG SUMMARIZED As FoLLOWS:

1 6 e o e,
a, 2 0 18 s
a,| 8 T 8 23
Qs | 21 18 12 21
0yl 30 2 19 15

I THIS EXAMPLE:
E{w,ﬂql} = zu_h + 10xl 4 '18xL + 283l = 1375

EfCost|ary = 15 ; E Yeorrlag] = 18; € {cowlag}s 2.5
HENCLE Do aqg. ' DT




